Algebra 3 Assignment # 2

Composition of Functions

(1) Find each of the following numbers, given the functions below.

f(x)=~2x -1 ; g(x):2X2—x—2 ; h(x)=x2+1
@) £(h(2)) (b) g(h(1))
(©) g(f(23)) (@ h(f(e(3))

(2) Find f(g(x)) and g(f(x)) for each of the following please.

f(X) _ 2Xx+5
@ f(x) =3x% +2x - 1 ) 4x -3
g(x):4x—5 g(x):3x+2
x—1
: : 3x -1 X+9
(3) Find g(x) if f(x) = - ,and f(g(x)) = 11
@) Find f(£(x)) if f(x) = 2=F2
3x -2

(5) Find all values of x such that f(g(x)) = g(f(x)) if f(x) = 2x%2 - 3x + 2,and g(x) = 3x -2.
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(c) 89

@) (a) f(g(x)) = 48x% — 112x + 64

g(f(x)) = 12x% + 8x — 9

2
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@) f(f(x))
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) x =1

Answers

(b) 4

) 26




